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37| | S¥E e | 2 XE | Ao HE =[] ZAES | Aa | Az | Baz | Bzs | dp |Ga***| Gz | H | Hz | SW | Ta |Y**** |Zxeeex| 2o
& E g SYSE max. HE
D AD M F My
mm mm Nm N Nm mm | mm | mm mm mm | mm mm
HDDS 11 | 25,00 - 32,50 0,10 22 32 2,7 33 1 1 5 1208 | M4 | M5 | 03 | 85 4 24 6 2 1
HDDS 15 | 32,00 - 42,50 0,10 28 45 45 43 15 15 5 | 243 | M4 | M6 | 06 | 7.2 5 24 6 2 1
HDDS 20 |42,00- 52,50 0,15 77 7.2 9,6 53 15 | 20 6 |343 | M5 | M8 | 10 [170| 6 30 6 3 2
HDDS 30 | 52,00 - 62,50 0,15 120 104 17,0 63 | 20 | 30 6 | 440 | M5 |M10| 10 (177 | 8 40 8 4 3
HDDS 40 | 62,00 - 72,50 0,15 158 10,3 20,2 73 | 20 | 40 6 | 540 | M5 |M12| 10 [171] 10 | 50 8 4 3
HDDS 50 | 72,00 - 82,50 0,15 205 114 22,2 83 | 30 | 50 6 | 650 M6 |M12| 10 (177 | 10 | 60 6 3 4
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